INSTALLATION INSTRUCTIONS

MODEL 88.700 "GLASS" SHOWER DOOR - 24" A
MODEL 48.700 "GLASS" SHOWER DOOR - 28"

Door

#8-32x5/16" Phillips Flat Head ( 1 )
Machine Screw /

Striker Jamb
{Instailed)

Hinge Jamb
(Installed)

ZHlNGE JAM SHOWN
. \ - REMOVED FROM DOOR

FRAME ASSEMBLY

(4) Si- 148CL (03-00)



INSTALLATION INSTRUCTIONS

MODEL 88.700 "GLASS" SHOWER DOOR - 24"

MODEL 48.700 "GLASS" SHOWER DOOR - 28"

Read instructions thoroughly before attempting to installi Shower Door.
Refer to Parts lllustration to familiarize yourself with component parts.
All doors are set up for hinge right installations, as shown. If hinge left is required, do the following:

A.

Remove screw from white nylon bearing, (located on hinge side of door assembly). Remove bearing, replace screw and
tighten in place.

Turn door upside down, remove screw that connects hinge side of door assembly to top door frame member, insert nylon
bearing, align hole in bearing with hole in door frame, insert screw and tighten in place. Door is now set up for hinge left
installation. .

Numbers in ( ) parenthesis refer to Key Numbers in Parts List.

1.

Set Striker Jamb (3) on threshold making sure it is vertically plumb and properly positioned on front support flange.
Locate and mark the five mounting holes. Using the striker jamb as a template, follow the same procedure for the
remaining front support. After you have marked both sides, center punch and drill the five holes into each front support,
using a 3/16" diameter drill bit. :

Slide Hinge Jamb (2) into Door Frame Assembly (1) until it is stopped by nylon bearing.

Insert Drip Rail Vinyl (4) into bottom of door frame assembly.

Mount hinged door assembly to appropriate front support (be sure magnetic seal is to inside of shower stall and door will
open outward) by inserting a #8-32 x 5/16" Phillips Flat Head Machine Screw through the hinge jamb, into the front
support and securing on inside of shower stall with a #8-32 Hex/Acorn Nut. Follow the same procedure for the remaining
four holes.

Mount striker jamb with magnetic seal to remaining front support using the #8-32 x 5/16" Phillips Flat Head Machine
Screws and #8-32 Hex/Acorn Nuts. Follow the same procedure as outlined in Step 4, above.

PARTS LIST

KEY PART NO.
NUMBER| 88.700 48.700 DESCRIPTION QUAN.
1 88.706 48.710 | Door Frame Assembly w/Magnetic Seal 1
2 85.702 85.702 Hinge Jamb 1
3 85.703 85.703 Striker Jamb w/Magnetic Seal 1
4 85.724 45.708 Drip Rail Vinyl 1
#8-32 x 5/16" Phillips Flat Head Machine Screw 10
#8-32 Hex/Acorn Nut ' 10
NOTE: FOR REPLACEMENT HARDWARE, ORDER COMPLETE PARTS PACKAGE - PN 85.710.
PACKAGES WILL NOT BE SPLIT FOR INDIVIDUAL ITEMS.
THIS SHEET IS AN ASSEMBLY AID, NOT A PACKING LIST Should you have any problems with
this Shower Door, please contact us at:
COASTAL
INDUSTRIES, INC.
P.O. Box 16901
Jacksonville, FL 32245
Quality Plumbing Products ng::e; ggg?égﬁ’ggg !
E.L. MUSTEE & SONS, INC.
> 5431 West 164th Street » Cleveland, Ohio 44142 Sl- 148CL (03-00)



